[image: Image]Multiplication and division problems

1) 3 x 678 =
2) 645 ÷ 5 =
3) 743 ÷ 6 =
4) 7 x 483 = 
5) 846 ÷ 4 =
6) 6 x 742 =
7) 8 x 935 = 
8) 849 ÷ 7 = 
9) 582 x 9 =
10) [bookmark: _GoBack]938 ÷ 8 =
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37 sweets are shared between 4 friends. How many
sweets are left over?

Four children attempt to solve this problem.

e Alex says it's |
* Mo saysit’s 9
e Evasaysits9r |
* Jacksaysits8r5

Can you explain who is correct and the mistakes
other people have made?
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Here are three number cards. .

Dora,Annie and Eva choose one of the number cards each.
They multiply their number by 5

D S | | did 40 x 5 and then subtracted 2
ora says, e lots of five.

‘ | multiplied my number by 10 and then o Annie says,
divided 210 by 2 &

Eva says, % | halved my 2-digit number and
@ doubled 5 so | calculated 21 x 10

Which number card did each child have? Would you have used

a different method to multiply the numbers by 57

e e s Aeh




